Club Gifts To The District Foundation

As of: 7-31-2025

Division Club	ClubGift	Membership	AvgGift
01			
Clear Lake		8	
Cresco		17	
Hampton		36	
Mason City		18	
Mason City-River City	\$650.00	96	\$6.77
Riceville	\$100.00	18	\$5.56
Total for Division: 01	\$750.00	193	\$3.89

Thursday, July 31, 2025 Page 1 of 25

Division Club	ClubGift	Membership	AvgGift
02			
Algona		25	
Algona-Morwens		14	
Fort Dodge	\$250.00	26	\$9.62
Humboldt		16	
Humboldt-Seven Oclockers		16	
Main St, USA, Webster City		8	
Webster City		19	
Total for Division: 02	\$250.00	124	\$2.02

Thursday, July 31, 2025 Page 2 of 25

Division Club	ClubGift	Membership	AvgGift
03			
Emmetsburg	\$250.00	20	\$12.50
Estherville	\$200.00	29	\$6.90
Lakes Golden K, Spirit Lake		10	
Milford, IA		33	
Spencer After Five		21	
Spencer Hy-Noon	\$330.00	53	\$6.23
Spencer-Daybreakers	\$246.00	40	\$6.15
Spirit Lake	\$1,000.00	90	\$11.11
Total for Division: 03	\$2,026.00	296	\$6.84

Thursday, July 31, 2025 Page 3 of 25

Division Club	ClubGift	Membership	AvgGift
04			
Floyd Valley		17	
George		10	
Hull	\$150.00	24	\$6.25
Inwood	\$138.00	15	\$9.20
Prairie Queen, Sheldon		20	
Rock Rapids		35	
Rock Valley	\$108.00	17	\$6.35
Sheldon		24	
Sibley		15	
Sioux Center	\$250.00	30	\$8.33
Total for Division: 04	\$646.00	207	\$3.12

Thursday, July 31, 2025 Page 4 of 25

Division Club	ClubGift	Membership	AvgGift
05			
Le Mars		23	
Onawa		14	
Sioux City		13	
Total for Division: 05		50	

Thursday, July 31, 2025

Division Club	ClubGift	Membership	AvgGift
06			
Alta		13	
Aurelia		37	
Holstein		17	
Ida Grove		27	
Sac City		28	
Storm Lake	\$250.00	29	\$8.62
Storm Lake Beavers	\$200.00	20	\$10.00
Total for Division: 06	\$450.00	171	\$2.63

Thursday, July 31, 2025 Page 6 of 25

Division Club	ClubGift	Membership	AvgGift
08			
Cedar Falls, Rough Risers	\$250.00	27	\$9.26
Easy Risers, Waterloo		16	
Eldora	\$300.00	21	\$14.29
Greater Waverly		23	
Grundy Center		41	
Waterloo		26	
Total for Division: 08	\$550.00	154	\$3.57

Thursday, July 31, 2025

Division	Club	ClubGift	Membership	AvgGift
09				
	Cedar Rapids	\$186.00	32	\$5.81
	Hiawatha Cedar Rapids Edgewood		16	
	Marion Metro	\$105.00	21	\$5.00
	Marion Sunrisers		2	
	Vinton		51	
	Williamsburg		27	
Total for D	Division: 09	\$291.00	149	\$1.95

Thursday, July 31, 2025

Division Club	ClubGift	Membership	AvgGift
10			
Brooklyn		14	
Greater Grinnell	\$150.00	10	\$15.00
Marshalltown		5	
Marshalltown P.M.		18	
Marshalltown-Matins		18	
Newton Noon	\$100.00	29	\$3.45
Toledo-Tama		27	
Total for Division: 10	\$250.00	121	\$2.07

Thursday, July 31, 2025 Page 9 of 25

Division	Club	ClubGift	Membership	AvgGift
11				
	Ames		37	
	Ames Golden K	\$522.00	79	\$6.61
	Ames-Town & Country		32	
	Ballard Community (The)		23	
	Boone		18	
	Boone Day-Breakers		36	
	Jefferson		30	
	Nevada	\$276.00	49	\$5.63
	Roland	\$144.00	24	\$6.00
Total for I	Division: 11	\$942.00	328	\$2.87

Thursday, July 31, 2025 Page 10 of 25

Division Club	ClubGift	Membership	AvgGift
12			
Carroll		16	
Denison	\$170.00	17	\$10.00
Greater Missouri Valley		22	
Harlan		8	
Harlan Golden K		7	
Logan		25	
Woodbine		11	
Total for Division: 12	\$170.00	106	\$1.60

Thursday, July 31, 2025 Page 11 of 25

Division	Club	ClubGift	Membership	AvgGift
13				
	Adel		17	
	Creston	\$150.00	25	\$6.00
	Perry		23	
	Polk City	\$150.00	21	\$7.14
	West Des Moines	\$120.00	18	\$6.67
	Winterset	\$100.00	19	\$5.26
Total for D	vivision: 13	\$520.00	123	\$4.23

Thursday, July 31, 2025 Page 12 of 25

Division Club	ClubGift	Membership	AvgGift
14			
Coralville-Corridor	\$42.00	8	\$5.25
Fairfield		33	
Iowa City	\$66.00	12	\$5.50
Iowa City-Old Capitol	\$258.00	43	\$6.00
Sigourney		12	
Washington		22	
Washington A.M.ers	\$162.00	18	\$9.00
West Branch Area (The)		10	
Total for Division: 14	\$528.00	158	\$3.34

Thursday, July 31, 2025 Page 13 of 25

Division Club	ClubGift	Membership	AvgGift
15			
Chariton		17	
Hy-Noon, Ottumwa		30	
Knoxville Noon		17	
Monroe		26	
Oskaloosa		16	
Ottumwa	\$100.00	12	\$8.33
Pella		29	
Total for Division: 15	\$100.00	147	\$0.68

Thursday, July 31, 2025 Page 14 of 25

Division Club	ClubGift	Membership	AvgGift
16			
Ankeny	\$150.00	23	\$6.52
Des Moines		32	
Des Moines, Golden K	\$500.00	51	\$9.80
Indianola	\$91.00	13	\$7.00
Johnston	\$160.00	19	\$8.42
Southeast Polk		23	
Urbandale		20	
Total for Division: 16	\$901.00	181	\$4.98

Thursday, July 31, 2025 Page 15 of 25

Division Club	ClubGift	Membership	AvgGift
17			
Atlantic		43	
Clarinda	\$108.00	18	\$6.00
Council Bluffs Downtown		17	
Glenwood	\$100.00	15	\$6.67
Hamburg		12	
Red Oak		17	
Total for Division: 17	\$208.00	122	\$1.70

Thursday, July 31, 2025 Page 16 of 25

Division Club	ClubGift	Membership	AvgGift
18			
Columbus		19	
Columbus/Next Generation		24	
Emerging Leaders the Community,		14	
Norfolk	\$250.00	49	\$5.10
Norfolk Morning		16	
Wayne		18	
Total for Division: 18	\$250.00	140	\$1.79

Thursday, July 31, 2025 Page 17 of 25

Division Club	ClubGift	Membership	AvgGift
19			
Blair		14	
Florence, Omaha		26	
Fremont	\$330.00	55	\$6.00
North Omaha		15	
Omaha		42	
Wahoo Area	\$132.00	22	\$6.00
Total for Division: 19	\$462.00	174	\$2.66

Thursday, July 31, 2025 Page 18 of 25

Division Club	ClubGift	Membership	AvgGift
20			
Bellevue	\$250.00	41	\$6.10
Bellevue-Offutt	\$95.00	18	\$5.28
Omaha Golden K	\$300.00	59	\$5.08
Southwest Omaha	\$175.00	29	\$6.03
West Omaha	\$168.00	30	\$5.60
West Omaha Diamond K		33	
Total for Division: 20	\$988.00	210	\$4.70

Thursday, July 31, 2025 Page 19 of 25

Division Club	ClubGift	Membership	AvgGift
21			
Hickman	\$66.00	11	\$6.00
Lincoln	\$420.00	63	\$6.67
Lincoln Sunrise	\$254.00	25	\$10.16
Lincoln-Northeast	\$510.00	51	\$10.00
Northwest Lincoln		23	
Waverly Area	\$271.00	21	\$12.90
Total for Division: 21	\$1,521.00	194	\$7.84

Thursday, July 31, 2025 Page 20 of 25

Division	Club	ClubGift	Membership	AvgGift
22				
	Beatrice		29	
	Fairbury		14	
	Homestead Early Risers, Beatrice		20	
	Lincoln Southeast		22	
	Lincoln, Capital City	\$168.00	28	\$6.00
	Lincoln-Cornhusker	\$240.00	36	\$6.67
	Lincoln-SouthPointe	\$88.00	11	\$8.00
	Milford, NE	\$204.00	34	\$6.00
	Seward		95	
	Seward Helping Hands		13	
	Southern Gage County		10	
Total for D	Division: 22	\$700.00	312	\$2.24

Thursday, July 31, 2025 Page 21 of 25

Division Club		ClubGift	Membership	AvgGift
23				
Grand Island			18	
Hastings		\$360.00	59	\$6.10
Total for Division: 23	•	\$360.00	77	\$4.68

Thursday, July 31, 2025 Page 22 of 25

Division Club	ClubGift	Membership	AvgGift
24			
Dobytown, Kearney	\$250.00	58	\$4.31
Kearney		20	
Kearney Golden K		9	
Lexington Plumcreekers		4	
Total for Division: 24	\$250.00	91	\$2.75

Thursday, July 31, 2025 Page 23 of 25

Division Club	ClubGift	Membership	AvgGift
25			
North Platte	\$240.00	25	\$9.60
North Platte-Buffalo Bill		22	
Ogallala Big Mac		18	
Total for Division: 25	\$240.00	65	\$3.69

Thursday, July 31, 2025 Page 24 of 25

Division Club		ClubGift	Membership	AvgGift
Total for District	59	\$13,353.00	3,893	\$3.43

Thursday, July 31, 2025 Page 25 of 25